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I (A) JTau. (B) W

) Ffufry (©) T s i a T
DPSP  (Directive Principles of State

» titution Was

c : . Policy) for Indian Cons .
g]\’lzich 59 g Tl inspired by which among the Lt
among the following Act laid

down S Constitutions ?
the conditions for nationalismion (A) USA (B) ijﬁ?ecgfmese

8{)8 B’asni;(in& Co (C) Ireland (D)
2 Companies (Acquicir: i .
and Transfer of Updenaion | 5. cha & sgede 19 3 AR W
R i R 7

Act, 1970
(A)  Hurhre Ia=ri H AR

(B) Reserve Bank of Indi an Ayenfen T Bl
: d
to Public Ownership) fl{ict(Tr S (B) = 3R .

(C) Banking Regulatio _
A ']
(D) None of these . @!’S (C)  viryw & feeg AT i
& e (T.34.) % azq 5\1?1) prr ?ﬂd' n Constitution
S icle 19 of the India i
STRIAWT 37K Fsfiemor Y vaey =7 Ty includes which rights ?_ ;
TfeTEa 3 & = ar qr ? (A) Rightto conslituilonifi_l Srel;ecc}i]le:nd
7 i .
(A) TSR fify gur : . B g(lﬁ?és o Ifreedom p
(C) Right against exploitation \

B) e Hify gun

© é?al. TR ot

(D) =7H @ FIE 7 _

Which among the following was the
primary outcome of the liberalisation
and privatisation initiatives under the
New Economic Policy (NEP) in 1991 ?
(A) Fiscal policy reforms
(B) Monetary policy reforms
(C) Globalisation
(D) None of these
fFrfefaa § & fpg wa § gfta wifd &
S S EYH FATATATIE ?

(A) SI. 3RV FIH

(B) wH.TH.ETHATA

© a\'“a S

(D) &= o

Who among the following is known as the

father of green revolution in India ?

(A) Dr. Arun Krishnan

(B) M.S. Swaminathan

(C) Verghese Kurien
(D) Sam Pitroda

(D) Right to freedom of religion
Tedra el # et fhE i
IR et 8 ?

(B) <Al

(A) faum-we= o
(©) =mmfmm (D) T AR
In a parliamentary system. 10 W hom the
executive is responsible 7

The people

jslature (B)

Eé)) %Z}i%’?lﬁl?}%) None of these
frferfaa # @ @ € Wi Faue A
g e agie 7
(a) fefaa sl fawga dfavm
(B) fi-walawwR
(C©) THA

e AR

D) T {
Which among the following is not a

salient feature of Indian Constitution ?
(A) Written and Detailed Constitution
(B) Two-tier Government
(C) Single Citizenship
(D) Universal Adult Franchise
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77 Which of the following fractions is the
((g)) ;g:m (B) 7484w largest 7
i (D) A 13 7
One horse power is equﬁé:{}f A 76 B 3
?gs)ro.‘;ggately how many watts ? 3] 7 63
watts (B)" 748 w: - -
o © T () Nowaes © % @ o
- Fefafea 4 @ s1 @ R GIPICED 3
N NS o " (6.73) = (4.38)° - 2
i PR © 6737+ 6.73 x 438 + (4387 )ﬁ
(B) S\ 1 I (A) 235 (B) 435 #
(C) &7 I T (€) 3.35 (D) 535 ©
(D) 9Tt =1 7 3 T e =
:K?:;h lof the following is not a ,‘E]lég 19%‘1%?(17{19'%!1?[7_6%? L
ical reaction ? =]
(A) Buming of coal : e @) 40 sRe (B) 48 sRww
Eg) Digestion of food N © 60 wicrre (D) 35 gfasre @,
(Dg gummg.of paper What percent of 19 is 7.6 ? ;C’
onversion of water into ste A )"
. e B ot am (A) 40percent (B) 48perccni /é
A) T ®) m@?~- (C) 6Opercent (D) 35 percent
©) w3 D) Sl @ 3 135
p . (D) FwE 16 60 & 80 % o= hI Wt 37Ty FEATAL "
fo)i?xr]i?;a?’s a disease of which of the waaag: 'Y Ge&-mI‘:g 13
(A) Nose B G The avera :
C ' Gums ge of all prime numb
(C) Heart (D) Lungs between 60 to 80 is: €] +¢ Bt @Ellnlfian
s - 8, it frefoea @ @ 102 ® 722
e arn s & ¢ C R
) A © 712 ' D) 732
(g) wwTTeEt . 17 V12.0409-+1.2544=
(C) STt & rorr 3 A) 235
B © 135 i
oem is a tis 4 . : D) 1.2
among the fo]lo»ljiiug% found: in. which .,1'8/ X ) ’
(A) Plants ; - Pttt % 4 B oftve wR ded |
Eg; }T‘{Ia-mlgals i fepar e @ 2 |
epro i . i
D) Ins}; e uctive organs of animals (A) wHiits g (B) BRI Wy
J& ¥R B Tl O e H R e $})1 TEHFWE D) T i
(A) THER B : ich among the followi g
(B) fwR ing acid
© e pas used in car battery ? % =58 0
How many tiers are Eﬁn the (A)  Acetic acid
fﬁ‘)mhéﬁa!‘: i}:?J System of India ? (®) Hydrochloric acid
(C) Two tiers gg; ]};‘}(l)ree t'iers . (C)  Nitric acid
i o ur tiers (D) Sulphuric a¢id
3

e

03



www.prepp.in

ereep

— (iﬁaﬂ:;afww%
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(D) s & |

21 ‘Nﬁa'mmw%:

(A) vaq B) =
©) e O wgw EIE
UTon
25 I w fem s &
() Ty ®) wF
©) e )
237 T 1 " faede s g 2
(A) SH+WEAT (B) 6+ WTEH
(© F+EAN (D) T Aw A

Read the passage carefully and answer the
corresponding questions : (24 and 25)
For the past week Elizabeth would come
home from work and discover that- her
apartment smelled like cigarette smoke. She
did not know where the smell was coming
from. Elizabeth didn’t smoke. No one else
had the key to her apartment to smoke inside
while she was at work. The smell of smoke
especially bothered her because she had
asthma. One day Elizabeth stayed home from
work because she was expecting a package.
When she woke up that morning, the
apartment smelled fine. At one in _the
afternoon, Elizabeth went into the kitchen to
make a sandwich for lunch. That was when
she noticed the smell of cigarette smoke. She
called the building’s superintendent. By the
time he arrived at Elizabeth’s apartment, the
whole place smelled like cigarette smoke.
The superintendent told Elizabeth that he was.
T;;Cll§‘ sure the smoke was coming up through
¢ vents from her new downstair’s neighbour.

03

The new neighbour was a smoker. The
superintendent told Elizabeth that there wag
nothing to be done. The building was real]y
old and the vents couldn’t be sealed. It Wag
also perfectly legal for the downstairg
neighbour to smoke in his apartment. "Hg
suggested that Elizabeth should buy an ajr
filter and sec if that would help. Elizabeth
bought an air filter but didn’t find it to-be
enough. Her asthma was getting worse. Her
clothes and furniture were beginning 10 sme]]
like cigarette smoke too. Elizabeth decided to
go downstairs to talk to the neighbour. She
was going to ask him not to smoke in hijg
apartment. Elizabeth knocked on the door.
When he opened the door, a huge wave of:
cigarette smoke came out. Elizabeth began
coughing violently. The neighpour gave
Elizabeth a disgusted look. “Are you trying to
get me sick ?” the ncighbour asked her,
Elizabeth couldn’t believe what he was
saying. “No, but you are ?” she said.

24, Elizabeth’s new neighbour lived _.
g (A) Dbesides her house

(B) upstairs

(C) downstairs

(D) nextto her

7" Elizabeth was suflcring from

(A) Pneumont
(B) Asthma

(C) Bronchitis
(D) - Cardiovascular disease : !

Choose the correct antonym : “Moumn”
(A) Joy (B) Vitalize
(C) Motivate (D) None of these i

\_?77./ Give one word substitute for the following:
“gne who sells articles at public sales”

(A) Auctionor  (B) Juggler
(C) Shopkeeper (D) Auctioneer

26.

_28. Choose the correct synonym : “Exile”
(A) Banishment (B) Expose
(C) Mystery (D) Proof
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[ . . frem / Find the o W -.LXB |
9. o wedE @ w R W@ W ﬁ? t”-/313,€1a7,23,33,67 23"% ‘\?c
Wﬁﬁﬂﬁ?mmﬁmﬁé‘ﬁ (A) 13 Eg; 33 >z
: o . 7
HyAl % e ey @ wE eT A Ui g | © !
O L LA
w0 ; R g BV
: : 2 <ff= 1 IV AA -
1 R it 3 g @ e A Find the angle between tll'le kzt 10,
. oc 4
grEF e EA TG dE | - andthemmu!ehandofaclzso ol
: ' . [mh (A) 138° ®) o Y F
I wee d oR-T2 w6 vedH  EEE © 115 (D) 180 :
H et ol AR | 537 ﬁA@ZG#@ﬁaﬂ%ﬁﬁﬁmmé
(A) FY9 1 FR0 2 3N FeA 1 5HH B 25 & =9 # whifed fea1 I g,
e | A oswEa iR FAISIAE o
B) w13 11 1 T Fror € | sk z @ 1% w9 & Fwifga fe a6
& ‘ @ MOBILE % forg e @i |
(C) ¥ I ST & 3R &y 1 THH If A is coded as 26, B is codcfd as 25, C
wEd is coded as 24 ......... and Z is coded as
1, then find the code for MOBILE.
(D) A F 1 3R 1 forelt wm (A) 152214181252 (B) 122518152214
N — ! (C) 181522141225 (D)« 141225181522
Read both the statements and decide 33. T IFHAR fre-2 ™ 1 LA 'lill's‘
which of the following answer choice &1 TH 3 ST 1 @ fhE TS 7 i
correctly  depicts the relationship TR ?
between these two statements. ) (A) (B) 33EH
Statements : (©) afierrg D Sﬁﬁﬁéjﬂ
. . A new species of Damsel fly name e
L ?ollce aulho'nt.y has . recently Anamalai Reed-tail has been discovered
increased  vigil during  the in which state ?
morning hours in the city. (A) Kerala (B) Assam
II. There has been considerable (C) TamilNadu (D) None ofthese
rCfiucm?n in th.e incidents of petty \}4/ Wt ¥ e ¥ wa, “ar =IfE 30 8 %
crimes in the city. el W = R 217 5w
(A) Statement I is the cause and Fet ?
statement II is its effect. (A) =T @®) fmr
(B) Both the statements I and II are (C) AT (D) A AFE TS
independent causes. Gopi said to Vivek, “That person is the
i . father of the only brother of my mother.”
(C) Statement II is the cause and . What would Gopi call him ?
statement I is its effect. EA) Uncle
B) Father
D) Bo}h the statements I and II are (C) Maternal Grandfather
effects of some common cause. (D) None of these
S T P
@ npcPCFCAITESN I0p 6@ g?u‘v‘ﬁ!xsvlz' A
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(A '
cam ow | 0@ B
(D) 7
INS Tarkash conducted I:TGM - Tata Power Solar started, India’s largest
aritime Floating Solar Power Project in which

Partnership Exerci i

: 1se with

i};g)s_Almazz (PC 411) and i 2
) in the Red Sea. e

(A) Om

© o D e
gﬁw{m—gl? feifea & @ fr &9 @ g
(A) ImFR

(B) SIHRHT AT

(C) ey uitd

(D) fw=rTm

: S
Jagriti’ is a mascot related to which

among the following fields ?

0

state ?
(A) Assam
(C) Kerala

e wew # 21 Rad 43w nam
51 WE 2022 i 2l o e WA I ¢
(A) WA 3R EA

(B) a3 wE

©) WA 3fR garees fehren

(D) R 37K g TS SN
Between which countries the 21-day
joint exercise Vajra Prahar 2022

concluded in Himachal Pradesh ?

(B) Bihar
(D) Odisha

(A) Income Tax
(B) Consumer Awareness o} i (A) India and Russia
(C) Climate Change g: E]I (B) India and France
(D) Crypto Currency ) (C) India and United Kingdom
377 wemg i e sitmarg w1 7@ Am Rk | (D) India and United States of America
(A) @RI (B) € St Prefiea i @ g Fe 3 g, 20227,
(c) uwRmE (D) =@ m@am@m%mﬁm%m,
Write the new name of Aurangabad T aefe d9 (I0A) % EH
located in Maharashtra. Sremiferes areer! &gl ?
(A) Sambhaji Nagar (B) Dhule fraTg T ?ﬂ:‘iﬁfﬁ@g
(C) Dharashiv (D) Satara )
@®) fit
g R fawE W feE W% (C) <L
Teeela Guda G Y IFAG I FEPT (D) 3G
JaiafFmma ? In July, 2022 which of the follo
3 company announced a long-te
(A) I+ (B) AIE partnership  with  Indian  Olymf
(Cy == (D) &8 Association (If?Ad) to elevate
: : formances of Indian athletes 7
Which country’s All-Party Parliamentary per : A
Group on Indian Traditional Sciences (A) Re.llance Industries Limited
conferred the Ayurveda Ratna award ? (B) Wipro .
(A) UK (B) UAE. (C) Tata Enterprise
03
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447 Preffea § 499 6 sz ) TeuE 2 2

e, 2022 i, FE @ 3 FwA FEA
1 wrerarg whrid e @ e Exc|
¥ foq frmss @y we gwsdl FOH W
FEE Ry E 7 i

(A) dELY  (B) .
(©) I (D) FHARET
In July, 2022, Coffee Board has §igned
an MoU with whom to develop climate-
resistant varieties of the coffee crops ?
(A) TNAU (B) ISRO

(C) DRDO (D) None of these

frafeRaa & & 1 @1 g3 wRa & A9
TR Tl ATy de e A e ?
(A) areE (B) EM

(C) Furet (D) 399 & I8 TE
Which among the following countries
shares longest international boundary
with India ? ]

(A) Bangladesh
(C) Nepal

(B) Bhutan
(D) None ofthese g

(A) SrEded (B) erg

(€) wafed (D) ¥ AHE T
Which among the following is the
capital of Israel ?

(A) Jerusalem (B) Baghdad
(C) Dublin (D) None of these

ST HHAN QIS o e B:

(A) freme far

(B) < 4 W@ uTHivT Sk A Y
AT A Iy

(C) wHAB Weihalall ! gEFR

(D) SHarhY e

The objective of the ‘Dak Karmayogi’

portal is : g

(A) Grievance Redressal

(B) Enhance the competencies of

~ about 4 lakh Gramin Dak Sevak
(C) Awarding Best Performers

3% Force Day ?
’[fl‘%%}é (A) 8 February

(D) Participation of Public

.--—--—"""'"."‘_'— . 27
ﬁgﬁmmﬁﬁmﬁq g
“* Tﬁﬁm@' @ ¥
o ates has the

i\c/:])uich of thé foll_owing st
Legislative Council ?

aka
Jharkhand (B) Kal:nat
Eg)) Odairsha (D) Gujarat
3 o o e g e e 5 = 3
| R ST R ? :
(A) 8 FE B) 8 fadat
FFEL (D) 87as
2 lebrated as Indian Air

Which day is ce

(B) 8 September

(C) 8 October (D) & November

480 Frefofaa # @ fF& WA =1 whiecs ft

FEIACIR 7
» =i (B) #AR
() =gl (D) ifsifer

Which among the following is also
known as Scotland of India ?

(A) 'Coorg (B) ‘Srinagar
(C) Mussoorie (D) Darjeeling”

497 FeN WY Wi 1 YRR

FHATE |
(a) wt (B) g e
(©) it (D) T AHE TE

__art is the traditional art of
stenciling from Mathura.

(A) Kajari (B) Miniature art
(C) Sanjhi (D) None of these

50 TreafeRea % & 2014 § s T @ v

2097 TS HH AR 7

(A) =T (B) ¥R@s

(C) IvEe (D) - Tfeem
Which among the following is the 29t
state of India created in 2014 ?

(A) Telangana (B) Jharkhand
(C) Uttarakhand (D) Sikkim
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2l 1 Wi geres FrafoRem amede R2IEVCEd

s Wémﬁﬁi@ﬁa@ M(@iss)%waﬁmwxﬁﬁ
B S TTeER M R T 3 i
. TATE Tl %@%lﬁm%ﬁ@ﬁﬁ;ﬁﬁ%
(©)  wETeT Wiy i e

(D) TSR T g
Who amon

g the followin
Wrote_famous book “The Stgrypzsﬁf
Experiments with Truth” ? g
(A) Maharshj Dayanand Saraswati
(B) Jawaharla] Nehru
(©) Mahatma Gandhi

(D) Sardar Vallabhbhai Pate]

et smgHves @ i \

(A) USTE fRfReT (B)  aree Ryfeo
(©) T WS (D) T A wE A
Greenhouse gases in the atmosphere
absorb most of the Earth’s emitted

,  which heats the
atmosphere.

(A) Ultraviolet radiation
(B) Infrared radiation
(C) Visible light

lower

- 3 e S s e 35 e
» Y, TS, o, andn afy

| i AT T A R
%,@W:mwwwmﬁ%mﬁma
ﬁm%‘aﬁm%ﬁiﬁmm@%%l'&%
TR 5 S w3 R #, 7w e 2 st B d i
R R T R B | P s W
@ A Em, W, T, BER w9
A Tl | =afr A § st o Sae
€ T 31§ T IS qe GRTae { R |3 el

IS & T vere £, T o 3 v = e
AT T A3 2 | TH g I=gEd, e,
IIATHEM, FLE, FEF % Wiy eaE 3
TR & TS 9 8 FAER A 8 | wwen frd
e e g TRy § i Jergan ® | Fa o
T % o Sfiem 3mme § | R % A | 7 e
e w7 | vEet @ i <61 R & W R | v
3 3P T A g o A 5 i g
TG ST | Hrer €l Fél Theil oo A Sl 05
T R | 9RA % FE TA A T TEW A Gl

E]’%g% (D) None of these -gﬁﬁg IR B 1R <1 IR G A TAEER |
= T s o v el s
atehata frefeiaa o 547 o< A1 g i = | <
A% A SIS T 6 o gz @ ? | Ry T Fwel # | @
SR = 1 A F1 R 3 TE g;ﬁr ?
(A) EERREn (B) A9 (A) G- TG T A |
(C) I (D) A FE T (B) wmwﬁaﬂgé@msﬁ:aaﬁaﬁ
Volleyball is a national game of which st aa_ b e et
among the following countries ? © ;ﬁ“ﬁ Hiet | HEHITH
(A) Indonesia (B) Nepal O waml < et B wf |
(C) Argentina (D) None of these | _@__
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" 55, Hw w1 de w0 A gansd H
e Eau e ?
1. wfe remd
2. 9rTETH AR EIE
3. e s

4. WS .
(A) 1-2-3 (B) FHAFRETE
(C) 2-3-4 (D) TEad
56, 3T g # WEE el w1 HOA WA AT
= & e s S A g # 7
(A) TEYE  (B) w=isHi-aM
(C) #=i®fm D) THTER
57, MWA & I Al § g 9 | 39 eieh

TG 1 s 0w R | 3 9

T TTA SO HFA TR 7

(A) Tsa @i 39 Tsg H Asfed
TERIAT T I I @ Ay
o o 78 € o T v @
R ag @R |

(B) T B Tger a1 W F 3= -
I 'Tpe IR weW W= F
AR & Ao W frega =m
EREcl _

(C) wi-aT9 w3t T e =& 3 o 5=
o= T W R E, B S
@A € 3 fr % w39
IST-ASTT R |

(D) wE=i 3R Hers F H-Tg @
T B R e g wm &
I I AR e wW R |

; 3t Fram 3 3R
T e § G S A e 3 R il
a1 € o SiLTfL Mg 3T A ST ”ﬁ
3T T A §, TG T 2 ST A AT I
3 e 1 0 e WW - 3 LT g e
£ fop w3237 vt 5 §eb, TEIERIR
Teoa T wedi 6 foe @ 1 S it Ok
T T T T 91 S=d 2l 2, 5 giitid B @
3R STTEvEERaT ge W AT & e S g B |
el g T fohe 1 9Ee % 999H 1 @l
e 71 w1 e 2 e Reyare wan S o
T 1 3o 8 & e | sea & v e e e
1 7 e A 39 A R | SR 9g =
HCHHIT T 2 SRR SRl 5 Rora Sl
® | S0 B @ T s b e % geey

%mﬁémmm‘ﬁm%l
58] WIeH 7ed) ) T UL 9 gaehl | B wmﬁﬁmm?1§q\m Pl USTE o
il v & e 4eh 2 ST 9. 5 5 5 e oy e
() TR ik fde il g mmmﬁﬁéﬂm%m'm’
(i) e % wfa woE | R 3 e 6y m%aﬁ{féﬁ%
(iii) R HgeH @ | mmé,mmmﬁ&mw% f
(iv) = e e | ﬁﬁwﬁwm%‘ﬁﬁﬂﬁmwﬁ
(A) (), (i), i) THCH B 9 7 T S ol
(B)" RIS : E%% ?ﬁﬁm‘ﬂ“"m%ma@ﬁmm
© @, (i), Gv) e qﬁﬁéﬁ;g?ﬁm i e | kb
(D) T A T ‘Emﬁimma%s.
@

e e
e e
]
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e — g form ad s
= " # 7 ﬁﬁé ad @l iforR ff 7 -
67. 1 arafy % A ﬁm"t ot ﬁ'%ami \)/ ’q’ﬁ the pcrcentaée increase in
wftet 2R It T <l =2Fa 5 3 In which yc:; compared to the previous
qe tion r
A BIg A o 1 AT Réz?lisas the maximum 003 (D) 2007
T fRe R 7 of ¥e002 (B) 2005(€) 2
The ratio of the least number 9 (A) e 3 Tirarge & Jerad
© students who joined the school to ll ;— 3 Rume o ?
\ maximum number of students who i‘ ’ o] o afred FeAred L:i s
3 4 school in any of the years during the T s of the given years was the
@* e givenperiodis: ‘ .7 Inhow man. & "\ s more than the
A)7:10 (B)S5:8 (C)7:9 (D) 5: production /1 © o of the given years ?
68. 2013ﬁﬁﬁﬁu@aﬁa@zﬁ_m, avcrilgel““ N - (D)4
2016 3 et H Yga 916t T 1 FEAT H Wl § ArEEA
ey e ot 7 ‘ 73 2001 - et ot 7
The number of students studying in the EL . — é
school in 2013 was what percent of the Wha il gn
number of students studying in the incr proud UHLE L
school in 2016 ? o) 20 npared to thatin 2001 2
(A) 87% (B) 90.50% ,&% S, 166.67% (B) 195%
©) 89.12% (D) 93.75% [EEE (C) 183.33% (D) 200%
mn.69%73:§alé@mamuaﬁaﬂt w . 74ﬂ73:gﬁﬁﬁaq'faa;'q3m*3ﬁtﬁ
0 Non, 89 10 78 Sy e ber st " ki) C wlhinlil bl Sl L
. . : u € bar gra an o 4 : > 5 1
answer the questions base)f:i on it : y T i Gl gﬁ %@.@ ﬁ SW
o il 7 ot 71 e e (o ) T HiREn sEEl w wiewa S e g
2 1(:)“’_‘12“_",":‘2- Mubile by company (in Lakhs) over the years Q Nos. 74 to 78 : There are five companics and we
3 4 |} havebeen given the number of employees working
BE . = 85 in different companies. In the table we have also
3 “ =8 - ’;'0’ ¥ been given the percentage of male and female
E-.; o =R % e o B emplovees in account and research department.
ELEH OB S HOB g ccount | Sgwu/ |
E ’ 2000 2002 2003 2004 ;ﬂib 2006 2007 2008 R R/ Research
b v Company|Employees | 385/ | wfeemt/ 9o/ |ofemd/
4 69 2005 s 2006 + swa wewEA AT s e (Female | Male | Female
= 4 o
- ﬁwﬁ‘iﬁﬁﬁ%ﬁmaﬁ%g’nw B 700119 [ 10 | 11 +
T IEEH 5 Iieh W o7 7o c 50198 | 14 | a =
(A) 2006332:2007 ®) 20043h2006 | (=2 o 2 ® L6
o (© 200432005 (D) 2002 3k 2007 s 3l 3
,quﬁ > The average production of 2005 and | '3 a2 v foe 3§ <y GM
)JJ?“K 2006 was exactly equal to the average ?’F 9H MBA i fft @ IHEYH faym
_ production of which of the following I F 3 409 HORET %
R 3 pairs of years ? Yo % ferht 3, & T%TF?? i o a
; ‘H..f»,w( (A) 2006and 2007 (B) 2004 and 2006y i E 7 fre st 3
] ﬂ (C) 2004and 2005 (D) 2002 and 2007 ‘ﬁggmaﬁ%m% ?
: M 2003 | 2004 G WEREA F IAEA I accou/:noEi?e employees of company E ip
ML i e R o 7 and 40% of the employces 2 dearee
(NN 3¢ What was the approximate percentage company in the rcseai_’r ogfies of the same
. decline in the production of mobile A degree, then hoSv Hirvii A
" m2003102004? have MBA degree in compans, 37 7SS
0,
A)21% (B) 27% (C) 23% (D) 29% A)92 B)77 (©) 106 (D) .66
17 11 ——————
7 P OTED 2nloe 3 2 03
g‘)é'l = s, L by TS XA
!
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TN A S e 5 T —
mméaﬁsmmwaﬁ“;' m§.79ﬁ83;ﬁmmﬁwmnﬂaﬁ‘(@raﬁx S
The totg) numﬁ:ﬁber o?ﬁm 2y P STUR R Y19 741 A, B, C, D 3% E &y q
of com y is aaCCOl.xln[ cmPIO)’CCS g Wﬁmﬁﬁmi’?ﬁ% | %
feesré::m more tha, ﬁprg-‘;lrlnmcly what | Q- Nos. 79 t0 83 : The following table gives
(A) r513‘lefznpoloyecs orcm{}mgungff of | the percentage distribution of population of E
© 238-54110,//0 ( 214 %9%. ﬁ:e s!allc_s A, B, C, D and E on the basis of I
A 7% P verty line and also on the basis of sex.
76. MAaﬁ( . ) 228,679, n the basis o r
C S 3 St v 3 e | | TV | 00 |yt emor o]
B ST / 3
? W a’—x'hm}?ﬂ T B Sﬂi : State R Proportion of Males and t
HIqYTy ﬁ‘ﬂ"’l i D gt St Females ;
Wam%mﬂ“%“ F wfgen stwm, | @ | waas '
.Whal is the ratio of th j ' Percentage of| 1R/ Below | %/ Above (
In account depanmenet m?le employeeg Population Poverty Line | Poverty Line (
together 10 the f, als pany A b
Of research departme etn?ale ¢mployees | ——{ Poverty Line|
and D togethery ¢ M Company B [ | | T/M:u/F | g/Mia/F AL
gé)) 8:115 ) 37,44, Cip . " e — 67 Y
431 3 B, 20 3:5 : K
8 (D) AR > A B S 4 :
No L 25 AM 12 2:3 M
77 B R (s - B 20 13 4:3° —~ ¢
ﬁ‘ﬂ’ﬁﬁ ( Dﬁgm)ﬁé’@'l QE £ 5:3 3.2 v A%
. .Gﬂia R g -~
E@TWWW(WAWE“@ 9. TN D A Tl Yar @ ww s awh J 57 7
BEw) - T % g Afeeal A e o g, a7 @ 0
W?ﬁ%ﬁamm%aﬁam 1% 752 D 61 st 7 e 2 7
awr(}r]rf%mmlg? (A) 24ffqm () 3PfRem
al 1s the difference betwe th C) 1.3 fuferm firfermm
number of female employees ofaecr::oun? gv) ;: i 19z=21
department in al] companies together hat will be the number of females
(excluding company D) and the male above the poverty line in the state D, if 837
employees of research department in all it is known that the population of state
companies together (excluding D is 7 million ? : ‘
E];C company A and E) ? v (A) 24 million (B) 3 million
BE (A)~ 128 ®) 142 - (C) 13million (D) 3.6million
(€ 138 @) fjﬁaﬁfi / B0 IR T C F forg et Y@ & FW I &
o sl AR TNt S sEEen 1.5 i 2, @
8. é@_ﬁmnﬁm_:ﬁmﬁu%m_mﬁmﬁu‘r ST C Y ot F7aeaT fre 2 7
TS H1 JgEnm o # Fwh ¢ % (A) 4s5fafmm  (B) 525 P
ﬁwﬁmiiﬂw *fb‘;' S s © shRmm (D) 5.75fifrm
at 1s the ratio o ¢ number o 5
female employees of company B in If the male pogu]al]on .ab.ove ﬁovc;y
account department to the number of line for statg Cis 1.5 ml]!lﬁﬂ, then the
male employees of company C in total population of state C is : ¢
research department ? (A) 4.5 million (B) 5.25 million
_ Eé; S %gg b (©) Smillion (D) 5.75million b
e : v c)
. 3 = ¥
2'?‘,{ A 17‘/ ‘/(‘(.6) /L_"_%\ 5 R’ =
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If the population of 'malcs bc“lo "
poverty line for state B 15.2.4 mi “}),e
and that for state E is 6 million, then t
total populations of states B and E are

in the ratio :
(A) 2:3
(C) 3:5

@B) 1:2
(D) 1:4

87 7R 7w C i gt e 4 e 8
e ¢ F e Yar & S I A
ARt 61 ot HE 71 IR |
/\}{(A) 12ffmm ) 2fufemm
vz 180 (D) 24 PrfeE
v ; If the total population of state C is

(L"\ 4 million, find the total number of
females above poverty line in state C.

(A) (B) 2 million
© (D) 2.4 million

T A % T el Y@ @ om e I
el S ST S 1 e 4 T A
% forg it Y@ @ SR I Tl At
1.8 fufermm E 7

A) 2.1ffwm  B) 3.55 fufemm
(©) 25fufem (D) FHIBE A

What will be the approximate male
population above poverty line for state
A if the female above poverty line for
state A is 1.8 million ?

'

1.2 million

1.0 —7 1.8 million

..—'./.»—'»"-ﬂ—“‘ q-( W
< # !
s, T . o
1 el o 7 s a8
mﬂgqgﬂ ot
») )
i ent
. Buddha attaincd cnlightenm
Ceeh hich river ’
on the bankaofu hic X (szd]k a
o Sa:;%\l" (D) Niranjan
& unpu’! |
© R EAC E{gﬁjﬁgﬁ-{'_j
o5 gl F o e
g B
AT
A
© -
Wh i
dur:
shilt 3) Pataliputra

() Magadha (D) Kurukshetra
o6 Pt # @ few @m H aEd
worqrar () Wi ot ?
(A) TS (B) fafem
(©) g« (D) =%
Which of the following army’s strength
was “Guerilla warfare” ?
(A) Maratha (B) British
(C) Mughal (D) Nayaks

&7 T W1 F QA SR T (Fdh) i
wE g AR F fag
qh1eh <1 SEAHTS Tenar T T |
(A) YeeR <t el
(B) wrefieia Tared
(C) W ht Taret
(D) =M ot ges (i)

i technique was used for
making bronze statue of Dancing Girl
during Harappa Civilisation.

(A) Stone carving

o ol (B) Ivory carving 1.3
A) 21 m].“fon (B) 3.55 million (C) Wood carving = &
(C) .2.5million (D) None of these (D) Lost Wax casting le.B =
e 18 —7 k= B7 210 6y 6 Leoly i3
. } 7= 15 t— L8 =7 ¢ = Sous :
B —3 . = 7
waz A % - ST L = S
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ereep
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TR oy S 1935 % AR § -
4 ’T’Wﬁaﬁmw’ &gﬂ%ﬁmmmw Y
(A ?

(© a1 v e B T e

(D) TEa ) (@)

Write the hame of f;
demandeq complete
(Poorna Swaraj).

(A) Maghfoor Ahmad Ajazj
(B) Bipin Chandra Pa]

(© Ba Gangadhar Tilak
(D)  Hasrar Mohanij

Fefafea 4 3 xS e

I T T 77 2 fﬁ:ﬁ N

(A) wfen fian 3 oy 9w stk
+ fo7g g ey |

(B) e tfrfyam, 1399

©) =T % g oy 1 fofyg |

(D) mmmmﬁm 1900

%ich of the following js considered as

major cause of Swadeshj Movement ?

(A) F unding for police and railways
Instead of women education,

(B) Calcutta Corporation Act of 1899.

(©) The decision to divide Bengal.

(D) Punjab Land Alienation Act of
1900.

ISt activist who
mdependence

w(ﬁﬁm?fﬁwﬁ{ﬁ;aﬁ&ﬁwwaﬁ

e e

03

USRI Rt T Iegehdl
fewrs 2

(A) wepa ®) &

(©) 3t (D) T FE T
In which of the following languages
British showed keenness in introducing
in Indian society ?

(A) Sanskrit (B) Hindi

(C) English (D) None of these

(D) ¥ ;;31" cxample of the ultimate
ich was an cxamg , :

Wt}luglr]il" of the British government in

lal:le ]proz'isions of the Government of

: 9357 .
(I?‘jm g\lgéc:al powers for governor over

incial governments
(B) F\r&\liﬂgf (le;: diarchy at p'r(l)\l;mci(al level
(C) Establishment of federal ban
(D) Division of power ’
g wie % v e § ) ,

2 N

(A) meren el
(B) 9w =zaM &
@ w8 dead »
D
HoE] I(-'ogward Bloc was founded by whom
'iﬁ among the following ?
(A) Mahatma Gandhi
(B)  Subhas Chandra Bose
(C) Sardar Vallabhbhai Patel

93— faaTed g2 1 M F T MER F

foa & e e R o1 :

(A) fegail ﬁﬁg%ﬂ:‘l’-ﬁ % 99 Al
TR

(B) dardi 3 H;Tm & @ st
a1 &M & 1

(© fegal it gl & o o
Tl o o e |

(D) FHERETE |

The main reason behind Mahatma

Gandhi’s decision to take up the

Khilafat Issue was: 2138

(A) To bring more unity among
Hindus and Muslims.

(B) To bring more unity among
Christians and Muslims.

(C) To bring more unity among
Hindus and Christiang,

(D) None of these

14 ‘f

frasguAimd ? : 5

(D) None of these . T
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'ﬁ o ____________...—-—-- ﬁq 98. ferte ¢ X k=il qaad“iﬂ RIS
2 3 freffad A i =il
A e A ST T e AN s
- oy oA UIcEtl
T 0 B
¢ e Cil Gead i : -
te () ¥ Fpra LS @) piective  © “Growth s
5 (D) T ~ ;Ylg;lityo”JWhiCh among 1, a3
. + o places 11 a : a5 launched -
hicl ne the following P : ‘e Year Plans W
T ﬁ:d?;vl, g:rscaéna(r)\ I%nd a wide cj)lffcrcncc n (}'«‘we 4 Five Year Plan
‘ day and night temperaturcs (B 6 Five Year Plan
vel (A) Thar Desert © 31 Five Year Plan
(B) Kerala D) 5t Five Year Plan
\ (C) Andaman and Nicobar Islands ( ¢ :
L (D) Goa y'mﬁﬁﬁmﬁwﬁﬁﬁmwﬁﬁ;?l
Mﬁﬁﬁmﬁmmé’ﬂ(m?ﬁ“) FEE® ar :
3 fepifora P T 7 (A) AT &
Into how many major time Zones, is the @) TH ¥ @ 1) STH
world divided ? “Erst
&) 12 1P Lol
() 30 (D) ¥ AHE T : . :
© 2 Which mgggggegg“?,m‘{l%di‘l’fi i
¢ usiness B -
(D) T Al / None of these group of individuals ?
96— TreffEn 5399 . P T (A) Public Sf:ctor ‘
wHE TR ? (B) State-owned enterprise
i (C) Private Sector
(A) T (B) wa®d (D) None of these
© T3 ® = - .
Which of the following is not a 1607 38 o il '-WI o ll%ﬁ 7 %
component of population change ? ¥R % TG H AT 1A gl
(A) Morbidity ~ (B) Migration (A) T
(C) Death (D) Birth B) TP
97 T i T PR A A PR AR 7 oy 3T aul &
(A) T (B) e gD) TRl el & a9t
fire ame the forest which is known as th
% (D). ﬁéﬁm : “lungs of the planet earth”. =
ch among the following is the capital (A) Taiga forest
of Lakshadweep ?
@ K i ) (B) Tundra forest
avaratti (B) Aizawl (C)  Amazon rain f
(©) Silvassa () Port Bl : rain forest
ar (D) Rain forest of North-East India
e 15 '
1 03
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